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BWAED | Bk | AR BRER | RS | BRG | RE
1 [104886210000613 |3k &z [071000 |42 010 |E=%pi 364  |85.96 [78.06 AR
2 [104886210000609 |miEkiE  [071000  [AH2 010 (=P 362 85.56 |77.66  |EAM
3 |104886210000610 |FEEEE (071000 |4 010 |BE=2%Px 356 |83.84 [76.26 |AAE
4 [104886210000612 |7K% 071000 |44 010 |E=2:Bx 342 [85.88 [75.39 |
5 |104886210000607 |7k%8%k (071000  |4=4% 010 |B=2%Px 338 |81.52 |73.17 |%ARAE
6 [104886210000605 |Z<Ix 071000 |49 010 (=P 333 78 71.16  [FORAY
7 |104886210000714 |FMEEE  [100400 |4 PALHRE%[010  |EE2ER 397 |89.84 [83.58 |AAE
8 |104886210000695 |4 100400 |ASERASTEER|010  |BE2FE 411  |85.28 [83.43 |FARM
9 |104886210000706 |47 100400  |ASETALHERIEE[010  |BESR 393 190.2 [83.24  |FAAE
10 [104886210000696 |45 100400  |A3EPAESHRESE|010 B2 383 85.56 [80.18 | AR
11 [104886210000716 |#/2H, [100400  [AscPA:5HEE|010  |BE%EE 364 |91.16 [80.14 %A
12 |104886210000697 |tk 100400 |2t PAEEFEESE|010  |BE¥EE 379 [86.64 [80.14 |FAM
13 [104876000110757 | 2541 100400 |ASERASTHEEE|010 | 350 |95.17 [80.07 |%ARE
14 |104886210000683 [£1#k 100400 |2t PAEEFEESE|010 B 391 80.84 [79.26  [zARM
15 [104886210000688 |[Z=®E & [100400 |ALTASHPIESX|010 |BEZEE 362 [87.92 [78.61 |AM
16 [104886210000689 |F i 100400 |ASERASTRER|010  |BE2¥FE 371 [82.32 [77.45  |%ARH
17 [104886210000690 |#MEEE [100400  [ASPA5HEIE|010  |BE%EE 351  |88.28 |77.43  |%ARE
18 |104886210002039  [4L1l 100400 |2t AEEFEESE|010  |BE¥EE 345 89.48 [77.19  [ZARH
19 [104886210001907 |T4& 100400  |ASERASTHEEE|010  |BE¥FE 351  |87.68 |77.19 |%ARRE
20 [104886210001635 |[MHH 100400  |AETAESTHRES:[010  [EE2ERE 353 |87 77.16  |EARM
21 [104886210000686 |3kZ:4H [100400  [AteBAESHEEY|010 B4R 365  [82.52 [76.81 |ARM
22 [104886210000691 |[BivkiE 100400  |AETAESTHRER[010  [EE2ERE 365  [82.44 [76.78 |*ARE
23 [104886210000679 |FRHEAS  [100400 | AL TDAESHRIE:[010 |BE2RE 344 86.44 |75.86 | AHY
24 [104876000110817 |#XHEIH [100400  [ASEESTEIEES|010  [BE26E 349  [84.63 [75.73  |%ARE
25 1104886210002036 |7k #H# 100400  [A3ETAESHHES|010 B3R 351 83.68 |75.59 |AHY
26 [104886210000708  [xIf& 100400  |ASERASTRER|010  |BE¥RE 360  [80.96 |[75.58 |
27 [104886210000710 |Z=#EH  [100400 | AL DAESHRIEY[010  |BE2ARE 348 82.16 |74.62 | ARY
28 [104886210000692 |LZFRfH [100400  |AJSEDAESHRIEF[010  |BE2B 361 76.4 [73.88 [2EARAE
29 1104886210000681 |7Kk#F 100400  [A3ETAESHHES|010 B3R 357 76.92 [73.61 [2ARM
30 [104866305009767 [4k7T 100400  |ASERASTEX|010  |BE2¥RE 358  |76.53 |73.57 |fARAE
31 |104886210000682 |Hgidt 100400  [A3ETASHHES|010 B3R 349 79.12 |[73.53  [2ARH
32 [104886210000684 |E3C# 100400  [ASTAESHHEY|010 B4R 358  |75.44 |73.14  |%EARAE
33 1104886210000712 |%&4F 100400  [A3ETAESHHES|010 B3R 303 91 72.76  [ARE
34 [106316080634456 |#IERF [100400  [ASEAELSTEIES|010 B4R 308 |85.92 |71.33 |%ARAE
35 [104876000110810 [Z&XUAL  |100400  |AtTAESHRIEE[010 B3 339 |74.51 |70.48  |%ARM
36 [104876000133905 |/ [100400  [ALTAESHHEY|010 B4R 299  [83.08 [69.11 [FEAA
37 [104876000110210 |E i 105101 |A}%E 010 |B=%Px 359 [80.76 |[75.38  |EkEA
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38 |106316020920736 |ZJ72 105101  [AF}EE 010 |EE%=P 324 |84 72.48 |k
39 [106106105100613 |X#B7k75 (105101  |ARLF 010 |E=2:Bx 324 79.52 [70.69  |EkEAL
40 1100016009730020 |E¥byb  [105101  [AFH 010 |EE%=P 309 [83.85 [70.62 |LkEfr
41 |104876000110172 |JEB&E% [105101 |} 010 (=P 318 79.55 [69.98  [FMkEAL
42 1104886210000642 |F7s 105101 | &k 010 |EE%=P 328 76.44 169.94  |ElkEAr
43 [104886210000676 |&FEA (105101 | AEME 010 |E=2:Bx 303 83.48 169.75  |E kAL
44 1104886210000659 [1EgEY] [105101  [NFH 010 |EE%=P 299  [83.16 [69.14  |F kA
45 1104886210000667 |5Hs 105101  [AEL 010  [E=2=pi 304 80.48 168.67 |E kAL
46 [104886210000655 | H AL, 105101 |ARl 010 |E=%pi 305  [79.16 |68.26  |EEEfr
47 [121216000001141 | 105109  |4hEl2E 010 |E=2:Bx 318 [82.69 |[71.24  |E kA
48 1104876000110491 [R5 105109  |4ME# 010 |B=%:Px 333 75.92 [70.33  |EkZEAL
49 1104036105104133 |&jK3C |105109  |4hELEE 010  [=%=Pi 310 76.87 [67.95  [FbEpr
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